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Roll No. ...~ WANCIAL MANAGEMENT
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WTO-H

Answers to questions are to be given only in English except in the case of candidates who
have opted for Hindi Medium. If a candidate has not opted for Hindi Medium, his/her
answers in Hindi will not be valued.

Question No. 1 is compulsory.
Attempt any five questions out of the remaining six questions.

In case, any candidate answers extra question(s)/sub-question(s} over and above the
required number, then only the requisite number of questions first answered in the answer
book shall be valued and subsequent extra question(s) answered shall be ignored.

Woarking notes should form part of the answer.

Marks
. Answer the following : Sxd
(a) The following figures are available from the records of ABC Company =20
as at 31% March.
' 2015 (% in lakhs) | 2016  in lakhs)
Sales 200 250
Profit 30 45
E&Iculat&: ) =
(i) The P/V ratio and total fixed expenses.
(ii) The break-even level of sales.
(iii) Sales required to earn a profit of T 70 lakhs.
WTO-H P.T.0.
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(b) Supreme Limited is a manufacturer of encrgy saving bulbs. To
manufacture the finished product one unit of component ‘LED is
required. Annual requirement of component “LED” is 72,000 units, the

cost being T 300 per unit. Other relevant details for the year 2015-2016

are :
Cost of placing an order o 2,250

Carrying cost of inventory : 12% per annum
Lead time -

Maximum ;20 days
Minimum : 8 days

Average . 14 days
Emergency purchase $ 5 days
Consumption —

Maximum ;400 units per day
Minimum 200 units per day
Average : 300 units per day

You are required to calculate :
(i) Re-order quantity

(i) Re-ordering level

(111) Mimmum stock level
{iv) Maximum stock level

{v} Danger level

WTO-H
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(c) ABC Company’s equity share is quoted in the market at T 25 per share
currently. The company pays a dividend of ¥ 2 per share and the
investor’s market expects a growth rate of 6% per year.

You are required to :

(1) Calculate the company’s cost of equity capital.

(iiy If the anticipated growth rate is 8% per annum, calculate the
indicated market price per share.

(iii) [f the company issues 10% debentures of face value of ¥ 100 each
and realises ¥ 96 per debenture while the debentures are
redeemable after 12 years at a premium of 12%, what will be the
cost of debenture ?

Assume Tax Rate to be 50%.

(d) The following information is related to YZ Company Ltd. for the year
ended 31" March, 2016 :

Equity share capital (of ¥ 10 each) T 50 lakhs
12% Bonds of T 1000 each T 37lakhs
Sales T B4 lakhs
Fixed cost {(excluding interest) T 696 lakhs
Financial leverage 1.49
Profit-volume Ratio 27.55%
[ncome Tax Applicable 40%
You are required to calculate :
(1) Operating Leverage:
(ii) Combined leverage; and
(111) Eamings per share.
Show calculations upto two decimal points.
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2.  (a) A company has introduced a new product and marketed 20,000 units. g
Variable cost of the product is ¥ 20 per unit and fixed overheads are
T 3,20,000.

Y ou are required to :

(i) Calculate selling price per unit to eam a profit of 10% on sales

value, BEP and Margin of Safety.

(11) 1If the selling price is reduced by the company by 10%, demand is
expected to increase by 5000 units, then what will be its impact on
Profit, BEP and Margin of Safety ?

(iii) Calculate Margin of Safety if profit is T 64,000,

(b) The following figures and ratios pertain to ABG Company Limited for g
the year ending 31% March, 2016 ;

Annual Sales (credit) 7 50,00,000
Gross Profit Ratio 28%

Fixed assets turnover ratio (based on cost of goods sold) 1.5

Stock turnover ratio (based on cost of goods sold) 6
Quick ratio r e |
Current ratio 1.5
Debtors collection period 45 days
Reserves and surplus to Share Capital .60 : 1
Capital gearing ratio 0.5
Fixed Assets to net worth }d:4d
WTO-H
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You are required to prepare the Balance Sheet as at

31* March, 2016 based on the above information, Assume 360 days in

a year.

3. (a) The Trading and Profit and Loss Account of a company for the year ¢
ended 31-03-2016 is as under :

Trading and Profit and Loss Account

T T

To matenials 26,80,000| By Sales (50,000 units) |62,00,000
To wages 17.80,000] By Closing Stock (2000
To Factory Expenses 9,50,000] UMts) 1,50,000
To Administrative By Dividend received 20,000
Expenses 4.80.200
To Selling Expenses 2.50,000
To Preliminary Expenses
written off 50,000
To Met Profit 1,79,800

63,70,000 63,70,000

WTO-H P.T.O.
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In the Cost Accounts ¢

(i) Factory expenses have been allocated to production at 20% of

Prime Cost.
(ii) Administrative expenses absorbed at 10% of factory cost.
(iii) Selling expenses charged at ¥ 10 per unit sold.

Prepare the Costing Profit and Loss Account of the company and
reconcile the Profit/Loss with the profit as shown in the Financial

Accounts.

(b India Limited requires ¥ 50,00,000 for a new Plant, This Plant is 8
expected to yield earnings before interest and taxes of T 10,00,000.
While deciding about the financial plan, the company considers the
objective of maximising earnings per share. It has three alternatives to
finance the project — by raising debt of ¥ 5,00,000 or ¥ 20,00.000 or
T 30,00,000 and the balance, in each case, by issuing equity shares. The
company’s share is currently selling at ¥ 150, but is expected to decline
to T 125 in case the funds are borrowed in excess of ¥ 20.00,000. The
funds can be borrowed at the rate of 9 percent upto ¥ 5,00,000, at 14
percent over ¥ 5,00,000 and upto T 20,00,000 and at [9 percent over
T 20,00,000. The tax rate applicable to the company is 40 percent.
Which form of financing should company choose ? Show EPS Amount

upto two decimal points.

WTO-H
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(a)

(7}
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Royal transport company has been given a 50 kilometre long route to g
run 6 buses. The cost of each bus is ¥ 7,50,000. The buses will make 3
round trips per day carrying on an average 75 percent passengers of
their seating capacity. The seating capacity of each bus is 48
passengers. The buses will run on an average 25 days in a month. The
other information for the year 2016-17 is given below :
(_}-E..l:agﬂ Rent . 7 6,000 per month
Annual Repairs & Maintenance T 24,000 each bus
Salaries of 6 drivers T 4,000 each per month
Wages of 6 conductors T 1,600 each per month
Wages of 6 cleaners T 1,000 each per m{}n&-‘l“
Manager's salary T 10,000 ]:ler_;l;nth
Road Tax, Permit fee, etc. T 6,000 for a quarter
Office expenses T 2,500 per month
Cost of diesel per litre T 66 T
Kilometre run per litre for each bus 6 kjlmn;tl;;s
Annual Depreciation = 20% of cost
_Annual Insurance 4% of cost
Engine oils & lubricants (for 1000 kilometres) [T 2,000
You are required to calculate the bus fare to be charged from each
passenger per kilometre (upto four decimal points), if the company
wants to earn profit of 33% percent on taking (total receipts from
passengers).

WTO-H P. T
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(b) Following information relates to ABC company for the year 2016 : 8
(i) Projected sales : (¥ in lakhs)

]'bf’h:unlthr August | September | October | November | December

Sale 35 40 40 45 46

(ii) Gross profit margin will be 20% on sale.

(iii) 10% of projected sale will be cash sale. Out of credit sale of each
month, 50% will be collected in the next month and the balance
will be collected during the second month following the month of
sale.

(iv) Creditors will be paid in the first month following credit purchase.
There will be credit purchase only.

(v) Wages and salaries will be paid on the first day of the next month.
The amount will be ¥ 3 lakhs each month.

(vi) Interim dividend of ¥ 2 lakhs will be paid in December 2016,

(vii) Machinery costing ¥ 10 lakhs will be purchased in September
2016. Repayment by instalment of ¥ 50,000 p.m, will start from
October 2016.

(viii) Administrative expenses of ¥ 1,00,000 per month will be paid in

the month of their incurrence.

(ix) Assume no minimum cash balance is required. Opening cash
balance as on 01-10-2016 is estimated at € 10 lakhs.

You are required to prepare the monthly cash budget for the 3 month
period (October 2016 to December 2016).

WTO-H
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5. Answer all four :

(a)  Write short notes on ¢

(i)

(ii)

Sunk Cost

Opportunity Cost

Marks
4x4

(b) What is meant by “cost centre”™ ? What are the different types of cost

centres ?

(c) List the emerging issues (any four) affecting the future role of CFO.

(d) State advantages of Debt. securitisation.

6. (a) The following information is available from the cost records of a 8
Company for the month of July, 2016 :
(1) Material purchased 22000 pieces ¥ 90,000
(2) Material consumed 21000 pieces
(3) Actual wages paid for 5150 hours T 25,750
(4) Fixed Factory overhead incurred T 46,000
(5) Fixed Factory -::lrverhead budgeted T 42.000
(6) Units produced 1900
(7) Standard rates and prices are :
Direct material T 4.50 per piece
Standard input 10 pieces per unit
Direct labour rate 3 6 per hour
Standard requirement 2.5 hours per unit
Overheads < 8 per labour hour
WTO-H P.T.O.
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You are required to calculate the following variances :
(i) Material price variance

(i1} Material usage variance

(iii) Labour rate variance

(iv) Labour efficiency variance

(v) Fixed overhead expenditure variance

(vi) Fixed overhead efficiency variance

(vii) Fixed overhead capacity variance

(b) Following is the capital structure of RBT Limited as on 31% March 2016 :

Particulars Book Value | Market Value
®) ®)
Equity Shares of ¥ 10cach 50.00.000 |  1,05,00,000 |
Retained earnings 1 13,00,000 =
11% Preference shares of € 100 each 7,00,000 9,00,000
14% debentures of T 100 each 3000000 | 36,00,000

Market price of equity shares is ¥ 40 per share and it is expected that a

dividend of ¥ 4 per share would be declared. The dividend per share is

expected to grow at the rate of 8% every year. Income tax rate

applicable to the company is 40% and sharcholder’s personal income

tax rate 15 20%.

You are required to calculate :

(i)
(i)

(i)

Cost of capital for each source of capital,
Weighted average cost of capital on the basis of book value
weights,
Weighted average cost of capital on the basis of market value
weights.

WTO-H
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7. Answer any four of the following : 4x4

(a)

(b)

(c)
(d)

=16
What is meant by Job Costing ? Give examples of (any four) industries

where it is used.

Give the method of costing and the unit of cost against the under noted
industries :

(i) Road transport

(i1) Steel

(iii) Bicycles

(iv) Bridge construction

Explain briefly the functions of Treasury Department.

Explain the following ;
(i) Bridge finance

(ii) Conversion cost

Explain the relevance of time value of money.
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(Hindi Version)

Marks

o e i oge fer Rt mem o ¥, wel o g et il A A # |

i To o=t | g Sl o e e e |

WY HE 1 e

9 3 Wl H W Tl Ut v & SEe A |

ot i et i e @ wfes eI T 3 ST ¢ At ST-gRe | wed a e e
Ferdforer st w7 8t weiE femn ST e sl weR ST o StarE i SuT

fepam s |

e foefort (Working Notes) 9T & 9077 219 =M |

. Tyt & 9o g
(a) ABC wur & arfietal | 31 o =1 Frey dend oo €
T 2015 (X mva ) 2016 (T &rE W)
T - 200 250
el 30 45
W’-‘lﬂﬁt{;

(i) /M= 3T (Ratio) 9T et T @ (Fixed Expenses)
(11) HH-fa=T (break-even) ToRe T WY
(i) T 70 =@ @1 o At B & o aited fawg

WTO-H
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(b) Tm feafeee St a9 = geal # fm & 1 AT g & e o
Woew "LED" ® UF THE (Unit) F aEvasa1 ¢ | LED Hues 5t aivs
sErvaeT 72,000 et & au wE T 300 vl wE

a9 2015-2016 & fow s mrafe o s wr &

U IMEYT i UET FA F AN 5 TS0

T B AT t 12% vfq =
ST HIT

Al : 20

AT : 8=

Eesn) 14 fE
ST %49 (Emergency Purchase) @ 5T

ST

3ffam : 400 gt il
= : 200 geTEET HfafE
e ‘ + 300 FoTEEr feries
T e & T s o Wt

(i) U7 3R 9T (Re-order quantity)
(i) 9 Y AT
(iii) =AY R T
(iv) Aysas =% w7
(v) @ =/ (Danger level)
WTO-H P.T.O.
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(¢) ABC HoFt & FHaT 39 (Equity Share) 309H § a7 | T 25 Wi 391 W

YA & | FEE T 2 Wi e siw o o faata wee & 1 e aem
ufet 5 6% FfE 5T Fi ST e F
TR 37T

(i) T % FOET T ST HONET FET |

(ii) =fe wenfer afe 7t 8% uf = #, =t ffee s e vl sfr &t e
AT |

(iii) aft T 10% FOT93 (Debentures) (3 100 i sovw) fFrifaa et &
3T T 96 W WO UNE Ul & | i Home 12 g v 12%
g (Premium) W 914 &, 019 1 AT 41 Bl 2

O o I Y T S0% FE |

(d) 31 |, 2016 P AT & & fow YZ wet fefaee et feefafas g
TR T € :
TAen e 4= T 10 9fq H#w T S0@mE
12% ®iogw (T 1000 wd aive) T 37omE
ferea T 847
T N (ST ] BIEH) I 6967@
ety T ' 1.49
SATMHET S (Ratio) 27.55%
ST i WHTE! 2T 40%
T arfere & o

(i) e FET (Operating leverage)

(i) i wiat; T

(iii) Wi 9T 397 (EPS)

ORI B F9eE 3@ (decimal points) T @ |

WTO-H
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2. (a) USSR A U A 300S W e o st 20,000 st a9 3T A g
uf gk ufterwier o € 20 & ST =t Sufessm (Fixed Overheads)
73,20,000 & |
ST ST
(i) faa w 10% o afe w9 & oo fomg g9 wiF oo, avfaes
g i sgzem o1 e st o b |
(ii) =k faska geg 10% ¥ w2y fear 5o &t w0 5000 HEal | agr geafaa
& 1 3o W, Wl faeg S e @ e 9T R e ag
(iii) 3 #ra T 64,000°F 7Y TERT T HET Bt 0T BT |

(b) ABG For s i 31 A, 2016 & TA 24 9t a9 | gt gen

Wamﬁﬁﬂfﬂiﬁﬁ%:
fersrer (34 W) % 50,00,000
el T4 (Gross Profit) ST 28%
Tt T 3R (Turnover) 3T (fahia AT i &R 9
) 1.5
Wi e I (feshie ST @ Ee O e 6
TN S : ] 1
HIe] S 1.5
A ST et 45 fr
e UE #HYS (Reserves and Surplus) / 3197 =71 0.60 : 1
TSt gl (Capital gearing) 3O 0.5
Tyt wrefeEt ¢ o 9o (Net worth) 1.2:1
I TEAAT & AEW G 31 HIE, 2016 F T T | 0F A0 H 360
Ty mifet |
WTO-H P.T.0O.
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3. (a) 319, 2016 T FETE £ At A % fom v S wm e ue et g
AT AT ATE-E =T \ )
? z
et 126.80,000| @ (50,000 F7aM) 62,00,000 |
o #i=re e (Closing
17,80,000| Stock) (2000 ) 1,50,000
HAEAT 599 9.50,000| W T (Dividend) 20,000
W S 4,80.,200
feea = 2,50,000
P e Rt En
(Written off) 50,000
[ 1,79,800
63,70,000 63,70,000
T = H

(i) HERAT 23, Tt A W 20% F 88 T I H At w5 e | |
(i) eIl =9 HREE A 9 10% yawihy w5 e g o |
(i) femrr =, farser 61 ¢ bl g, X 10 v gré =t fopdt et & 1

FOTAT T AT ATH-ET S T HT a9 ALa i A am & e

% TY FHAMH HIT |
WTO-H
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(b) sfo=mr fafaes wi v 7 943 & 0 T 50,00,000 Fr EvTEA E | H9TH g

F2uE == H g T 10,00,000 % 37 w7 F wwE € | A e e
G FE Aia 39 S ST % v W e e e
urg afeisen & fadias & 9 fawes & 1 T 5,00,000 31 T 20,00,000 a1
T 30,00,000 HT 0T WA FH T UedH 290 H WY FHAT 9T b e
(issuc) HTh | AATH 5 ST & 379 T 150 W o w &, wie T 20,00,000
¥ aify 3w &7 it g A T 125 % e s @ geaee & ) s @t
7 5,00,000 % 9 " @t 57 9, T 5,00.000 7 afaww 3w T 20,00,000 7%
|4 wicrere = 57 97 @ T 20,00,000 § afuw 19 vfawre #it &7 W ae e
ST WA € | AT 9T AP F R AT 40% F | Tt % e & e e

T TEA AT e 7

(ufer 3791 3Tl TvmeE & o afE a% frawd)

4. (a) T aETET BT B 6 A6 @ 9EH W e 50 Teeiser o ant B g
T | U A @ A T 7,50,000 & | & syt difen e w0 aftEe 75
mﬁW@H%EW{mmdtrips}mlmwﬁﬁE
ST 48 Tt & | w9 uw o o afteee 25 fi w1 o 2016-17 @

T G AT G TEE

T o T ¥ 6,000 wfae

AMF T il TEET % 24,000 ufq 79 |
- 1

WTO-H P.T.O.
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:WWW_ 7 4,000 wi g Wit 5% |
6 HUEF! H A % 1,600 i e i
6 FA T HAGH 7 1,000 i e wiaae
e A % 10,000 wfe =
i Fa, Wi Wi e % 6,000 wie oAt
w%m - n,smsrﬁrﬁm
SioTer St AT Wi Tt T 66

Rtz ST uid oot (ras an & e |6 feeieT

=i &1 (Depreciation) T = 20%

B ER L] AT = 4%

gorT iTe Tl et (1000 Rt % @D R 2,000

S P S S r g ——— g O
st ) ot e el e & per e 3 335 e 9 W A
maﬁmmaﬁ%u

(b) ABC wrtt Hi ad 2016 3 gt FeAn e & - 8
(i) el (Projected) famt : (¥ v W)

HrE WfﬁﬂﬁT'ﬂﬂ@T ECi-rg Erat=ra

Geal 35 40 40 45 46

WTO-H
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(i) W &9 (Gross Profit) ®ife= faest @ 20 afawme g

(iii) wetfer fawmt &1 10% Teps Tt 2t | e A #o3uw fEE e so
WeI 37Tel ATE W e A S oer v fast & et gat e o
e far A |

(iv) RT3 %4 & I Uk 5E F Ol a1 S | %Y sl 39

B Em

(v) Higit R A o1 STTEH ST HE % UEe 6 eI | STl T Ane
wif wie W T 3w w

(vi) % 2 ¥ & Farm A @ T ey 2016 # e smo

(vii) ¥ 10 ¥ =t AE T 99RO 2016 § wa w1 st | e
% 50,000 vt awe =i o S amoE smaT 2016 ¥ 399 #

(viii) Wi = vl A T 1,00,000 #m forem rer S€ e fR
O |

(ix) ¥ =4 f $iF a5 w9 snavas 7@ & | e des v
01-10-2016 %t T 10 7 srpae famar |

T 3 TE T (ST 2016 H T 2016 F9) Wi dHE T (Cash

Budget) ST & |

WTO-H P.T.O.
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5. T S U % 39 ST 4xd
=16

(a)

(b)

(c)

(d)

et i wifeer feot Tt :

(i) g9a @O (Sunk Cost)

(i) 3R AT (Opportunity Cost)

T e | T AW & 7 fafee v % @ Fe & an d A |

ey faety aifusrt (CFO) = 9@t qiaer &t wafad & a1 39 fawat
(et =) 1 et i |

0T Werqfeishtor (Debt, Securitisation) 3 FTWI &1 Feei HioTd |

U A F 2016 F A A6 & oA st § Frefataa o soes
&1

(1) =t e 22000 =YE (Picces) T 90,000
(2) v ' 21000 @vg
(3) ETelE FSTg e 5150 =2 % 25,750
(4) ToFd T T FREET SRS (Overheads) Z 46,000
(5) weE T HEE I 3 42,000
(6) Irafea sl 1900

WTO-H
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(7) T G O e §9 W E
WeAE (Direct) WA % 4.50 v mwg
T (Standard) 92 1) Tog wfi g
T 49 7Y 2 6 Wi "
A ST 2.5 =2 yie e
e T 8 Wi 9 =oe
st Fereferfian faeeot w6t momr ardfiaa &
(i) et e feremoT (Variance)
(i) JT WA (usage) fammm
(iii) &= =% fa=mm
(iv) o wripTeE fae
(v) wret sufvems e faemm
(vi) i Zufier g e
(vii) Tt Zufiega e (Capacity) fomor
(b) RBT f@fge= =7 31 919, 2016 F T&iT W1 =y W & 8
- faEm TEEYE | A
® ()
G S @ X 10 wf s 50,00,000 | 1,05,00,000
e e 13,00,000 =
| 1% TaifaesT 3797 (Preference Shares)
(T 100 wfa 3fwm) 7,00,000 9.00,000
14% T (Debentures) (3 100 Hfe -
[T 30,00,000 36,00,000
WTO-H P.T.O.
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AT 4791 7 Ao g T 40 ofd st & | Ot s @ S & i o 3 4
vter 3fer <1 =7 | =i gt | s wie 2w gentaT gt 77 8 afaew i
o e ¥ | FE W ST AN A 40 WAv & T SR &
AT ST i 3T 20 WA ¥ |
ATGRT T HEAT E
(i) 5t o v it Bl i B S
(if) T 959 R % HMIT W TSN @ 9iiE ST @M (Weighted

Average Cost of Capital)
(iii) T o 9 % 3T 9T O it SireE W |

7. Tefahen 9 9 = o 3o S it
(a) U@ FWE (Job Costing) @M | =7 31w & 7 &AM (el =) &1 S =16
< it & s w1 ST E
(b) Tr=itea saint & fow @ fafl v e = g = Seora Hifa
(i) wEF uiEe
(i) =
(iii) =it
(iv) ﬂﬁﬁﬂ?ﬂT
(¢) T fErmT (Treasury Department) F T T =men ﬁ&ﬂ'ﬂ.‘ |
(d) =1 =t =grE it
(i) = & (Bridge Finance)
(i) iREeT F
(¢) TET % THY og HI MR (relevance of time value of money) i ZATEH]
Hifa |
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